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4 i 2R NI 7 -V Hifr| % = i %
PRIERE 2.0 + 2.0 4,0

A-7 HT3EASs ¢ 100 m
AS 2.0%4. 0 8. 00

Fi 45 ] Wt T 15cmPd T m
AS 0. 60%4. 0 2. 40

Bio%E H 0w B L T 10cmPL T m?2
N yIRHRHIRDA | 0,601, 08%4, 0 9.59

e Tk bl Hil T BHO. 2m3 m3
BHO. 2m3 (0. 60*0. 42-0. 12%0. 12%0. 785) *4. 0 0. 96

% A i T TR m3
BHAE HIFEIA 0. 60%0. 314, 0 0.74

T 1k b = T BHO. 2m3 m3
0. 60%4. 0 2. 40

i JE % HE T| RC-40-0 25cm m2
0. 60%4. 0 2. 40

1S JE % HE T M-25  10cm m2
0. 60%4. 0 2. 40

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 2.59-0. 74 1.85

53 + AL piii} T 4 t —2km m3
AsHl BHO. 2m3 0. 600, 04%4. 0 0. 10

53 1 AL i} T 2 t —10km m3
0. 10 0. 10

A s B OHIOFE M A B #F m3




3. ERE L 3—17)
# B &t 1 =3
a—p 4 PR 2R NI RS 7 -V Hifr| % = i %
EN 2.0 + 2.0 4.0

A-7 HT3EASs ¢ 100 m
AS 0. 60%4. 0 2. 40

MO OHL v LT 10cmPA F m2
N IRHRHIRNA | 0. 60%1, 08%4, 0 9.59

e ik bl Hil T BHO. 2m3 m3
BHAE HIFEIA 0. 60%0. 73%4. 0 1.75

T 1 b = T BHO. 2m3 m3
0. 60%4. 0 2. 40

i & % T| RC-40-0 25cm m2
0. 60%4. 0 2. 40

1S JE % T M-25  10cm m2
0. 60%4. 0 2. 40

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 2.59-1. 75 0.84

5 + pu fii T 4t —2km m3
A sl BHO. 2m3 0. 60%0. 044, 0 0. 10

53 1 AL i} T 2 t —10km m3
0.10 0. 10

A s B OHIOFE M A B % m3




3. ERELT (3—8)

i
I

% =

4 i 2R NI i B K HA B & i %
R E 2.0 2.0

A-8 HT3EAS ¢ 75 m
AS 2.0%2. 0 4. 00

Fi 45 ] W T 15emPk T m
AS 0. 60%2. 0 1.20

Bio%E H 0w B L T 10cmPL T m?2
N yIRIRHIRNA | 0. 60%1, 05%2, 0 1.26

e Tk bl Hil T BHO. 2m3 m3
BHO. 2m3 (0. 60%0. 39-0. 09%0. 09%0. 785) *2. 0 0. 46

% A i T PREERD m3
BHAE HIFEIA 0. 60%0. 31%2. 0 0.37

T 1k b = T BHO. 2m3 m3
0. 60%2. 0 1.20

i JE % HE T| RC-40-0 25cm m2
0. 60%2. 0 1.20

1S JE % HE T M-25  10cm m2
0. 60%2. 0 1.20

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 1.26-0. 37 0. 89

53 + AL piii} T 4 t —2km m3
A s#fl BHO. 2m3 0. 60%0. 04%2. 0 0.05

53 1 AL piiil T 2 t —10km m3
0. 05 0. 05

A s B OHIOFE M A B #F m3




3. RERE T (3—9)
# B &t 1 =3
a—p 4 i 2R NI RS 7 -V Hifr| % = i %
ik 2.0 2.0

A-8 HT3EAS ¢ 75 m
AS 0. 60%2. 0 1.20

MO OHL v LT 10cmPA F m2
N yIRHIRNA | 0. 60%1, 05%2, 0 1.26

% L4 1 il T BHO. 2m3 m3
BHAE HIFEIA 0. 60%0. 70%2. 0 0.84

T 1 b = T BHO. 2m3 m3
0. 60%2. 0 1.20

i & % T| RC-40-0 25cm m2
0. 60%2. 0 1.20

1S JE % T M-25  10cm m2
0. 60%2. 0 1.20

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 1.26-0. 84 0. 42

5 + pu fii T 4t —2km m3
A s#fl BHO. 2m3 0. 60%0. 04%2. 0 0.05

53 1 AL i} T 2 t —10km m3
0. 05 0. 05

A s B OHIOFE M A B % m3




3. ERE L (3—10)
# B &t 1 =3
a—p 4 i 2RI S it H K Hifr| % = i %
PRIE R 12.0 + 4.0 + 6.0 + 6.0 28.0

B HT3EASs ¢ 100 m
AS 2. 0%28. 0 56. 00

Fi 45 ] Wt T 15cmPd T m
AS 0. 40%28. 0 11. 20

Bio%E H 0w B L T 10cmPL T m?2
AT RVE LS YR 0. 40%0, 35%28. 0 399

e Tk bl Hil T BHO. 2m3 m3
BHO. 2m3 (0. 40%0. 25-0. 12%0. 12%0. 785) *28. 0 2.48

% A 2% T TR m3
0. 10%28. 0 11. 20

1S JE % T M-25  10cm m2
0. 40%28. 0 11. 20

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 3.92 3.92

5 + pu fii T 4t —2km m3
AsBl BHO. 2m3 0. 40%0. 0428, 0 0.45

53 1 AL i} T 2 t —10km m3
0.45 0.45

A s B OHIOFE M A B % m3




3. ERE T (3—11)

i B At A =

4 i 2R NI RS 7 -V Hifr| % = i %
WE 12.0 + 4.0 + 6.0 + 6.0 28. 0

B HT3EASs ¢ 100 m
AS 0. 40%28. 0 11. 20

B4 H v B L T 10cmPL T m?2
AT RVE LS Y= RN 0..40%0. 35%28. 0 399

e ik bl Hil T BHO. 2m3 m3
0. 40%28. 0 11. 20

i JE % HE T| RC-40-0 25cm m2
0. 10%28. 0 11. 20

1S JE % HE T M-25  10cm m2
0. 40%28. 0 11. 20

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 3.92 3.92

% + pu b T 4t —2km m3
AsHl BHO. 2m3 0. 40%0. 04%28. 0 0. 45

53 1 AL ] T 2 t —10km m3
0.45 0.45

A s K BE M W OB B m3




3. ERE T (3—12)

i B At A =

4 i 2R NI i B K HA B & i %
PRIE R 20.0 20. 0

G HIEAs K m
AS 2. 0%20. 0 40. 00

Fi 45 ] W T 15cmPd T m
AS 0. 20%20. 0 4.00

Bio%E H 0w B L T 10cmPL T m?2
AT RVE LS YR 0. 20%0. 16%20. 0 0. 64

e Tk bl Hil T BHO. 2m3 m3
BHO. 2m3 0. 20%0. 06%20. 0 0.24

% A i T PREERD m3
0. 20%20. 0 4,00

1S JE % T M-25  10cm m2
0. 20%20. 0 4. 00

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 0. 64 0. 64

5 + pu fii T 4t —2km m3
AsBl BHO. 2m3 0. 20%0. 0420. 0 0.16

53 1 AL i} T 2 t —10km m3
0.16 0.16

A s K BE M W OB B m3




3. ERE T (3—13)
# B &t 1 =3
a—p 4 i 2R NI RS 7 -V Hifr| % = i %
WE 20. 0 20. 0

G MTiEAs FaK m
AS 0. 20%20. 0 4. 00

B4 H v B L T 10cmPL T m?2
AT RVE LS Y= RN 0. 20%0. 16%20. 0 0. 64

% L4 1 il T BHO. 2m3 m3
0. 20%20. 0 4.00

i & % T| RC-40-0 6cm m2
0. 20%20. 0 4,00

1S JE % T M-25  10cm m2
0. 20%20. 0 4.00

*= JE T.| #hiJEAs 20F 4cm m2
4% BHO. 2m3 0. 64 0. 64

% + pu b T 4t —2km m3
AsHl BHO. 2m3 0. 20%0. 04%20. 0 0.16

53 1 AL piiil T 2 t —10km m3
0.16 0.16

A s B OHIOFE M A B % m3




3. REE T (3—14)
% B A B &
a—p 4 Jii % R Ik b HOK Wil % & i %
PELE 6.0 6.0

H AcHidE 7k m
N yJRIHRHIRNA | 0. 20%0, 20%6, 0 0. 24

b fi Hill BHO. 2m3 n3
BHO. 2m3 0..20%0, 10%6. 0 0.12

% A B’ TRAERD m3
BILYR A 0. 20%0. 10%6. 0 0.12

- S SR S BHO. 2m3 n3
£/ BHO. 2m3 0.24-0.12 0.12

J2 + AL it} 4t —2km 3

LR 6.0 6.0

H AcHige 7k m
N yIEIHRHIRDA | 0. 20%0, 20%6, 0 0. 24

b fi Hill BHO. 2m3 n3
BHAEHIFEIA 0. 20%0. 20%6. 0 0.94

- S S S BHO. 2m3 n3
L# BHO. 2m3 0.24-0. 24 0. 00

53 + P piii} 4 t —2km m3




